
IMPEL AB • TEL: +46 42 37 89 80 • INFO@IMPEL.SE

2022-03-10

1/3

Subject to technical changes and corrections without notice

Description
Filter ball valve accessories/spare parts.

Marking
Sticker on rod magnet.

Maintenance
Filter ball spare parts are normally maintenance-free, 
but should be inspected regularly. 
Cap with rod magnet and strainer insert should be cleaned 
when necessary.

Technical data
Body			   Nickel-plated brass CW617N
Rod magnet		  NdFeB Neodymium
O-ring			   EPDM
Strainer mesh		  Stainless steel SS304
Strainer body		  Plastic
Insulation		  Neopor SFG700

Maximum working pressure: 16 bar
Maximum working temperature: 100ºC
Minimum working temperature: –20ºC

- Key grip
- Cap
- Cap with rod magnet
- Cap with hole
- Strainer
- O-ring
- Insulation

Filter ball valve 480-series accessories/spare parts

VALVES



IMPEL AB • TEL: +46 42 37 89 80 • INFO@IMPEL.SE

All dimensions in millimetres Subject to technical changes and corrections without notice

2022-03-10

2/3

Cap 480/752

Cap with magnet (V2) 480/486/752/756 Cap with threaded hole 

Item number Description For valve Weight (kg)

0403803020 Cap 480-20/752-20 3/4"F 0,04

0403803025 Cap 480-25/752-25 1"F 0,05

0403803032 Cap 480-32/752-32 1 1/4"F 0,06

0403803040 Cap 480-40/752-40 1 1/2"F 0,08

0403803050 Cap 480-50/752-50 2"F 0,13

Item number Description Connection thread For valve Weight (kg)

0403807020 Cap with threaded hole 8, 1/4"F, 480-20/752-20 1/4"F 3/4"F 0,04

0403807025 Cap with threaded hole 10, 3/8"F, 480-25/752-25 3/8"F 1"F 0,05

0403807032 Cap with threaded hole 15, 1/2"F, 480-32/752-32 1/2"F 1 1/4"F 0,07

Item number Description For valve Weight (kg)

0403806020 Cap with magnet (V2) 480-20/486-20/752-20/756-20 3/4"F 0,07

0403806025 Cap with magnet (V2) 480-25/486-25/752-25/756-25 1"F 0,08

0403806032 Cap with magnet (V2) 480-32/486-32/752-32/756-32 1 1/4"F 0,12

0403806040 Cap with magnet (V2) 480-40/486-40/752-40/756-40 1 1/2"F 0,13

0403806050 Cap with magnet (V2) 480-50/486-50/752-50/756-50 2"F 0,22

Filter ball valve 480-series accessories/spare parts

Key grip 480/486/752/756

Item number Description For valve Weight (kg)

0448912025 Key grip 480-20,25/486-20,25/752-25/756-25 3/4"F - 1"F 0,04

0448913240 Key grip 480-32,40/486-32,40/752-32/756-32 1 1/4" - 1 1/2"F 0,08

0448915000 Key grip 480-50/486-50 2"F 0,21

VALVES



IMPEL AB • TEL: +46 42 37 89 80 • INFO@IMPEL.SE

2022-03-10

3/3

Subject to technical changes and corrections without noticeAll dimensions in millimetres

Filter ball valve 480-series accessories/spare parts

Item number Description For valve Weight (kg)

0403901020 O-ring 480-20/486-20/752-20/756-20 3/4"F 0,01

0403901025 O-ring 480-25/486-25/752-25/756-25 1"F 0,01

0403901032 O-ring 480-32/486-32/752-32/756-32 1 1/4"F 0,01

0403901040 O-ring 480-40/486-40/752-40/756-40 1 1/2"F 0,01

0403901050 O-ring 480-50/486-50/752-50/756-50 2"F 0,01

Item number Description For valve Weight (kg)

0403902020 Strainer insert 480-20/486-20/752-20/756-20 3/4"F 0,01

0403902025 Strainer insert 480-25/486-25/752-25/756-25 1"F 0,01

0403902032 Strainer insert 480-32/486-32/752-32/756-32 1 1/4"F 0,02

0403902040 Strainer insert 480-40/486-40/752-40/756-40 1 1/2"F 0,02

0403902050 Strainer insert 480-50/486-50/752-50/756-50 2"F 0,03

Item number Description For valve Weight (kg)

0403904020 O-ring and strainer insert 480-20/486-20/752-20/756-20 3/4"F 0,02

0403904025 O-ring and strainer insert 480-25/486-25/752-25/756-25 1"F 0,02

0403904032 O-ring and strainer insert 480-32/486-32/752-32/756-32 1 1/4"F 0,03

0403904040 O-ring and strainer insert 480-40/486-40/752-40/756-40 1 1/2"F 0,03

0403904050 O-ring and strainer insert 480-50/486-50/752-50/756-50 2"F 0,04

O-ring

O-ring and strainer insert

Strainer insert

VALVES

Insulation

L

W
Knock-out wall
for lever

Item number Description Length (mm) Widht (mm) Total height 2x half (mm) For valve Weight (kg)

0752100225 Insulation 480-25, 484-25, 486-25 135 78 80 1"F 0,02

0752100232 Insulation 480-32, 484-32, 486-32 155 90 89 1 1/4"F 0,02


